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1  Select the correct among following : .
(1) All reptiles possess scales and three chambered heart
| (2) All bony fishes have four pairs of gills and one pair of operculum
(3) All sponges are marine and have choanocytes ' '

(4) All mammals are viviparous and possess a dlaphragm

Frefafas & 9 adt &1 gme ¢
(1) @ JUgdl # oo 9O a9 S T BT & |

) af sRuw Teh ¥ ar IR @ T T WS FEm enT T
SIS

(3) Wwa@ﬁﬁ%@ﬁﬁaﬁqﬂ%ﬁmsﬁ%l
(4) WﬁﬁﬁTW@ﬁ%ﬁﬂTsﬂﬁWW@m-%l

2 Which type of .cleavage is found in frog 7

(1) Spiral ' . {2) Holoblastic
(3) Meroblastic {(4) Superficial
g N Ree yer @1 REes o w@r 2 ?

(1) e | (@ iR

(3) aignden (4) =S

3 Mammahan cells which are not capable of metabolising glucose to CO2
aerobically ? :

(1) Liver cells ~ (2) RBCs
(3) WBCs (4) Nerve cells

wﬁﬁﬁmﬁmﬁumﬁ@mmcozﬁwaﬂ%ﬁaw
T B ¥

(1) FPa ﬂ?fﬁm (2) RBC -

(3) WBC (4) B B
4 Haversian system is found in -

(1) Blood () Tooth

(3 Muscle {4) Bone

SRy @ uen @ ¥, A - _

(1) & . 2y =@

(3) Ut 4) afy
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5  Which of the followmg is also called as "graveyard" of RBCs 7

(1) Gall bladder : (2) Kidney
(3) Spleen . (4) Liver
ﬁwﬁ%mwmaﬁw“mﬂ”ﬁm% ?
(1) TrmeE | Q) T
@) e | @) TFd
6  Which of the following is a correct match ?
(1) Pila — Pelecypoda . (2) Spider — Arachnida
(3) Cockroach — Crustacea (4) Leech — Polychaeta
Fraffae # - e W@ ¥ 7
1) e - WEME 0 @ TS - R
(3) Femea - wRfimn @) Si®m — W
7 Which amino acid is not found in proteins ?
(1) Aspartic acid - (2) Tyrosine
(3) Ornithine (4) Arginine
- R o W fr 48 U W ¥ O?
C(l) THeE o - @) TEHEEA
@) il @ wRRE
8 What is common to whale, seal and shark ? -
(1) Homoiothermy (2) Four chambered heart
- (3) Convergent evolution (4) Absence of teeth
S, iF qu oF ¥ = OUH EHE ¥ 7
(1) HaTE | ) 4-3h -em
@) sfmERr feE (4) T @ ST
9  Fibroblast, macrophage and mast cells are found in -
(1) Epithelial tissue - (2)  Connective tissue
(3) Nervous tissue - (4) Skeletal muscle tissue
FiEEE, WA qU W ST 9 Wi § -
(1) SUHal b (2) wE STH

@) dFe Fme 4) Faeny I SAB
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10 The taxonomic category that includes least similar animals -

(1) Species (2) Genus
3) Class (4) TFamily
e o g EE Tl §e9 w9 wEEan gofe € -
(1) el @ e
(3) @™ - ) Hiwh
11 Which pair is mismatched ?
(1) Vitamin D -~ Rickets (2) Niacin — Pellagra
(3) Thiamine — Beriberi ‘ (4) Vitamin K - Sterility
P g9 TG & 7 |
(1) frfm D - fbew @) ProfE - e
G) e - -39 @) frifE K - wyged
12 The epithelium found in the walls of blood vessels is
(1) Columnar eﬁithelium (2) Squamous epithelium
(3) Cuboidal epithelium (4) Compound epithelium
W@ e @ dEat ¥ Rl W W A Susar ¥
(1) wfiEg Suwer (2) 9T SUBT
(3) UIHR IYHW (4) WY SYBW

13  Turner's syndrome is -

(1) 215 trisomy + XY (@) 18t trisomy + XX
(3) 44 Autosomes + XO (4) 44 Autosomes + XXY
o wm faEe wee ¥ - |

(1) 21 EEW + XY (2) 184 TEEM + XX

(3) 44 JHEEH + XO (4) 44 JAEEH + XXY
14 Animals of which class produce pearls

(D Gast'ropoda ' (2) Bivalvia

(3) Mollusca (4) Scaphopoda

o ot % ol A s w ¥ 2

(1) FregidsT (2) e

(3) HiwR (4) B
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Yolk sac placenta is found m -

- (1) Pig (2) Sheep
(3) Primate ‘(4) Didelphys
o % SOy U AR T -

(1) g 2 93

() uEE 4) srefnd

A primitive mollusc which is a connecting link between annelida and
mollusca - '

(1) Neopilina (2) Nucula

(3) - Limnaea : (4) Neomania -

T e Hernt S YRSt quT A & oAl B dwe wel § -
(1) Pl (2) -
@) W (4) At

XO type of seﬁ determination is found in -

(1) Man (2) Grasshopper

(3) Horse (4) Drosophila

X0 WaR & fi fuiker wEn s ¥, § -

(1) =39 () FR==t

G) @ () Sife

The snake with vestigeal pelvic girdle and hind legs -
(1) Cobra (2) Hydrophis

(3) Python (4) Viper '
at Fed emedl ol d@en den uew TR TR W ¥ -
(1) @i @) HES LT

(G) TR (4) =wRYC (dsf)

- Alec Jeffrey developed DNA fingerprinting technique. The probe he used

was -
(1) Ribozyme (2) rDNA
(3) VNTR (4) SNP

W% 9% 7 Aowe RerRfe wEh @ @ @ 1 R St W a5 m
¥ e g8 a1 -

(1) TgEmeIEH _ (2) 1DNA

(3) VNTR (4) SNP
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Select out the wrong statement - .

(1) Six codons do not code for any amino acid
(2) Three codons function as stop codons

(3) AUG codon codes for methionine

(4) Genetic code exhibits linear arrangement

WA WY B 99 B -

(1) 6 #Eq fedl @ bl oma W T wld ¥ o
2) 3ﬁaﬁwm@@wwmaﬂ%%1 -
G) AUG ®eW Af@Pm @ safa & 1
@) ongeRE W Y e AWl ¥l

The extra embryonic membranes taking part in the formation of placenta
in eutherian mammals -

(1) Allantois ) (2) Yolk sac ‘
. (3) Chorion and Yolk sac (4) Chorion and Allantois
| et Wi ¥ sww Peiv ¥ qm o aeh sd-ye it -
(1) syt i (2) dYnw WY
(3)_'a11'g'amtha$aﬂw (4) WY TUT SO

22

23

The cavity formed during gastrulation is -

(1) Gastrocoel . (2) Archenterone
(3) Primitive gut ' (4) All the above
irgdie W PR e ¥ -

1) = O (2) ARG
(3) enw T | (4) SulEm uwdl

Hormone which is an amino acids derivative -

(1) Insulin 2 Glucagon
(3) Androgen - (4) Epinephrin
TR W Um AR o PO ® -

(1) gl | () TgH

(3) T @ el
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24 Pebrin is a disease of -

(1) Honey bee (2) Silk worm
(3) Lac insect (4) Aphids
Ufem U1 Reg H Fa ¥ -

(1) 7Y Wl (2) ™ W B
(3) W@ & e o @) iesw

25 1In a polysaccharide, the monosaccharides remain linked by -

(1) Peptide bond (2) Phosphodiester bond
(3) Glycosidic bond (4) Hydrogen bond -
TefidREs A AN Eey oned ¥ g3 B ¥, BN -
(1) veEs 9y (2) HIEHEETRL Y
(@) TAEHNEE FY | (4) wREWE §9

26 Mammalian blastula 1s known as -
{1) Blastocyst (2) Trophoderm
(3) Periblastula o (4) None of the above
(1) wreife (2) e
@) U@ 4y @ @

27  One of the following is not a connective tissue -
(1) Lymph (2) Blood
(3) Bone | (4) Nerve
frafafen & ue dae waw TE ¥ -
(1) | (2)
(3) o ) e

28 The condition where urea accumulates in blood -

(1) Glycosuria (2) Uremia
(3) Ketonuria (4) . Anaemia
qE ST v T® A YREr iy B owwn & -
(1) wEHgRE @ 3R

(3) HrEgha @) wAlmE

0OP17_A] : 7 : [Contd....
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29 Which of the following does not have an excretory system ?

(1) Myxine (2) Balanoglossus
(3) Asterias (4) Catla
Prffa & Bhg ¥ ol @ @ omEl wen ¥ 7
(1) gl (2) deArEEY
(3) TETEE @) wbaa
30 Pyramidine basc which provides additional stability to DNA over RNA is -
(1) Adenine (2) Guanine
" (3) Cytosine (4) Thyamine
fﬁﬂfﬁ@?&mﬁﬁRVAﬁwﬁDNAaﬁaﬁrﬁﬂﬁwﬁhWW-
FAT F -
(1 @ (2) v
(3) Wt @) umfe
31 The "golden age" of reptiles 1s -
(1) Coenozoic era (2) Mesozoic era
(3) Paleozoic cra {(4) Archeozoic era
wlgdl & @i ' ¥ -
(1) €SS 1B (2) HisigH HETHR
(3) URIHrAlgd: HETRT () erfdSTEE wEET
32 Lysozyme that is present in perspiration, saliva and tears, destroys -
(1) Some fungi : (2) All viruses |
(3) Bacteria - (4) Virus-infected cells
AR W TR, @R qdl engel ¥ URn WE ¥, % Bl ¥ -
(1) B FaH @ () it amEREl @
() Sramgei wmo (4)y Ty demfie @frmen @l
33  Kupffer's cells are found i -
(1y Liver (2) Pancreas
(3) Owvary (4) Testis
AT Wl BN U AR ¥ -
(1) =g (2) a9
(3) = @ g
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Choose the photosynthetic protozoan -

(1) Amoeba : (2) Euglena
(3) Paramecium ~ {(4) Opalina
WIS W W @l wEe &Y -
OB (2) i

(3) uTHfEw (4) simET
Each primary oocyte on meiosis produces -

(1) One ovum (2) Two ova
(3) Three ova (4) Four ova
T Wi SEEe qUgE fruem % g e ¥ -
(1) TH oy | (2) 3 ey
() @F omeTy (4) =X e

What is true about Nereis, Scorpion, Cockroach and Siver fish ?

(1) None of them is aquatic

(2) They all belong to same phylum

(3) They all have jointed paired appendages
(4) They all possess dorsal heart

(1) = ®E 91 s\ 98 T

@) F wh uw & 99 P gew ¥

(3) =z wh A dimger ghime sow e ¥
4 el ¥ go g A ¥

W, ey, wiwtg gur Rwe AW F R ¥ oo v ¥ °

The Finches of Galapagos island$ provide an evidence in favour of -

(1) Special creation |

(2) Retrogressive evolution
(3) Biogeographical evolution
(4) Mutation

e D W & e vl R uw ¥ oww A wown wge evd ¥

(1) fafire gem

(2) ol o
() EHmiNe fawm
(4) e
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Which one is the simple, globular and water soluble protein ?

(1) Keratin ' (2) Elastin

(3) Albumin (4) Collagen

F—a1 TH Y@, MEEE qO FW N gt Wem ¥ 7
1 w0 - (2) wEE

(¢) uEim . (4) et

Urinary bladder is absent in all birds except one of the following -

(1) Ostrich -~ (2) Duck

(3) Owl : (4) Peacock
ﬁw&#@aﬁ@rwaﬁtﬁwmﬂmﬁ@mwﬁaﬁaﬂ%
M gt @ W@

@) ITF (4) ¥

Find the ‘odd one out -

(1) Ring worm (2) Tape worm
(3) Hook worm _ (4) Guinea worm
(1) Tor =t (2) W a4

(3) FF | (4 firlt =4

Correct for bile juice -

(1) It has trypsin

(2) It has pepsin

(3) It is without enzymes

(4) It has renin

frg @ % fog =& ¥ -

(1) za¥% Rfww dan &

2) T e o ?

(3) IO TWEH H o ¥l r
@) e P @

OP17_A] 10 ‘ [Contd...
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Which of the fdllciwing pairs is incorrectly matched ?
(1) Lemur — Thecodont '

(2) ' Obelia — Metagenesis -

(3) Sea urchin — Parapodia

(4) Crocodile - 4-chambered heart-

Frefafed & & wF-ar et o femn ¥ ?
(1) W . - nﬁfmaeﬁ |
(2) AFWEm - EEARE

(3) T A - annd m

4) WTTE® - 4-%HE9 B=q

The two polynucle'otide chains in DNA are -

(1) Parallel ' "{2) Discontingous
(3) Antiparallel (4) Semiconservative
DNA & & Wirfreiess Sean o ¥ -

(1) ¥ | Q) wEEa

() whwwir | (@) orefERar

At what stage of oogenesis, ovum is released from human ovary ?

(1) Primary oocyte (2) Secondary Qocyte

(3) Ootid - {4 Oogonium

eSS W fRE oteren ¥, WHW omeE ¥ el g dam ¥ ?
(1) wnafe FEme (@) e wune

3) =i | (4 Wt

Sea snakes have -

(1) Cylindrical tail (2) Lat.erally compressed tail
(3) -~ Dorso-ventrally ﬂatteped tail (4) Tail is absent

el W ¥ ARy - | -

(1) s eR B (2) Y Tt ym

3) HUTTYB IR 4B (4) 15 & I Bl ¥

OP17_A] 11 o [Contd...
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One of the following is a group of essential amino acids -
(1) Tyrosine and valine

(2) Isoleucine and threonine

(3) Glycine and Cysteine

(4) Tryptophane and Leucine _

frafafan & 4 s emays onll ondll @ WF T -
(1) ZRATHT q&r deli=

(2) omsEEEE e RreEE

(3) TwEkm T faEE

(4) Rt e o
Not a constituent of cell membrané -
(H Phospholipids | (2} Cholesterol _
(3) Glycolipids (4) None of the above
(1) wiemiieg (2) HERAA _
(3) TEEHIAIEE 4) ITEd ¥ HE TE
Which blood group has both 'a' and 'b' antibodies ?
n A | @ B

" (3) AB | @ O
fra @ T W @ U b I TR T Wi ¥ ¢
A 2) B
(3) AB | @ O

Which controls “sleep-wake cycle" in the body ?

(1) Vasopressin (2) Thyroxing
(3) Melatonin (4) Oxytocin
HF iR ¥ CHe-wre % W w1 FEEe #ka ¥ 7
(1) adnf () e
(G) ARt (4) eifrmeifya

OP17 A] 12 [Contd...



50 Hypothrombonemia is due to the deficiency of -

(1) Vitamin - A (2) WVitamin - K
- (3) Vitamin - E B (4) Vitamin - H

SR Prea Q@ ¥ -

(1) Rrefm-A ) frefm-K

3) frefA-E @) fefE-H

51 Which of ovary in mammals acts as endocrine gland after ovulation ?

(1) Stroma (2) Germinal epithelium
(3) Corpus luteum "~ (4) Leydig's cells
&l W eSS & 91T STUSIgE BT BI-| WA Sy ufy & BE
CIG I S |
(1) =M (2) =T Sy
(3) wUE " - (@) wifer & Fified

52  External ears are found in -
(1) Only in mammals (2) Mammals and reptiles
(3) Mammals and birds (4) Only in eutherians
e F 9 oW ¥ -
(1) Faa whar & (2) whEl qen wigar &

(3) @il Jen oitw A (4 wIa ghfer §

53 Which of the following statement is correct ?
(1). Stem cells are specialized cells
(2) Al animal cells are totipotent
(3) Ontogeny repeats phylogeny
4) Both (1) and (2)
frffaa & & @S- wo woT W & 2
(1) BA Himn fafe @fimee ad ¥
@) wf Tt Bhm gl ad F oo
(3) =fmga § wigy B gREA
@) = (1) @ ()

OP17_A| | 13  [Contd...
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In  body, exchange of gases takes place in -

(1) alveoli only (2) alveoli and tissues
{(3) trachea and bronchi | (4) larynx and pharynx
w7 § i @ fabem e d - -

(1) %aw Fhepwet F (2) hiHET qAT Hawl
() e qan sfew A | (4) ofteg dan St A
Formation of acrosome is from -

(1) Mitochondria (2) Lysosome

(3) - Golgi body 4 ER

umEH @ B d ¥, ¥ -

(1) i (2) T

(G) TR ®W | 4) ER

In which phase of cell cycle, DNA duplicates ?

(1)  G-1 phase - (2)  G-2 phase

(3) S phase (4) M phase

SR T B Rew e ¥ SAwAw & GEE S § O
(1) G-1 graeen (2) G-2 v

(3) S wrawen @) M WEEn

Part of human brain which is concerned with regulation of body temperature
is - ' '

(1) Cerebrum (2) Hypothalamus
(3) Medulla (4) Cerebellum
aME AasE @ W fEw s 3% a6 fem ¥ ¥ -
(1) wiesw (2) TR
- (3) =g - (@ ogiies
Middle ear of human beings contain -
(1) Endolymph (2) - Exolymph
(3) Perilymph : 4) Air
oY % A HU WA B %, ¥ - |
() uwsifws (2) vaEs
) Whes ) =

OP17_A} 14 [Contd...
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Animals of which group are bilaterally symmetrical and triploblastic -
(1) Ctenophora _ _ (2) Spong (Porifera).

(3) IC_oe]enterata (4) . Aschelminfhese '

g wE & i faoyd weiw 9w Bedw s ¥ 7

() e @) w (@)

3) =y | (4) UTHETES

One of the following is not under the direct control of the pituitary gland -
(1) . Testis () Thyroid

(3) Adrenal cortex (4) Adrenal medulla
ﬁmﬁﬁgﬁﬁ%@ﬁgﬁruﬁﬂ%ﬁ@r&ﬁwﬁﬂﬁ%

(1) 9% (2) EEs

(3) TE Wi (@) T g

Foetal ejection reflex in humein female is by -
(1) Pressure exerted by amniotic fluid

(2) Filly developed foetus

(3) ~ Release of oxytocin from pituitary

(4) Release of prolactin from pituitary

Wﬂﬁﬁﬂﬁﬁ%gﬁﬂéﬁﬁﬂ%ﬁ@ﬁ%?
(1) S T R N TSA ¥

2y qof faefaag sqora

() U ¥ R F REew ¥

@ Wy ¥ Wi & Reew @

c¢DNA libraries are prepared from which isolated RNA ?

(1) tRNA and rRNA ~(2) Only rRNA
 (3) rRNA and m RNA (4) * Only mRNA

cDNA @uewa &8 R RNA & Pl @9 ¥ 2

(1) tRNA @a1 r RNA (2) Fa@ rRNA

(3) rRNA @& m RNA (4) HEd mRNA

OP17_A] | 15 [Contd...
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Animal which belongs to phylum mollusca .

(1) Star fish ‘ (2) Silver fish
(3) Cuttle fish (4) Comb jelly
Wg o U9 A e wER b -

(1) ¥/ uwel | : (2). o9 9B
(3) W AEA (4) wE SE

Down's syndrome i1s an example of -

(1} 215" monosomy (2) 18" monosomy
(3) 215 trisomy @) 181 trisomy
SRA H RS TH &R ¥, E -

() 214 A | (@) 188 A
(3) 219 TE @) 1831 ZrEe

One of the following is not considered as a part of endomembrane system -

(1) Vacuole - {2) Peroxisome

(3) Lysosome 4) Golgi body

Praffes § ¥ ww @ ol Rieh o @1 9T T WET oo % -
(1) <@ , ) Witrdm

(3) wSEER 4) Tiestl &

If a live earthworm is pricked with a needle on its outer surface without
damaging its gut, the fluid that comes out is -

(1) Excretory fluid (2) Mucous

(3) Haemolymph (4) Coelomic fluid

aft R St gy ¥ SER MR MW @ ReU AR T S-E
¥ g W W UF a9 free, 9w der ¥ -

(1) Sl @ | @) @

(3) <Erifm 4) e T

OP17_A] 16 {Contd...



67  The epithelial tissue present on the inner surface of Fallopian tube is -

(1) Ciliated (2) Squamous

(3) Cuboidal (4) Glandular

e el @ fTd wE W U R A v s -
() qEmR (2) s

() TR " 4 el

68 Dental formula of adult man is -

1) 22, 11,32, 35 @ 22, 11, 22, 33
() 373, U1, 33, 212 (4) 2/1, /1, 213, 313
(1) 272, 1/1, 3/2, 3/3 (2)  2/2, 1/1, 2/2, 373
G) 33, 11, 33, 22 (4) 2/1, 1/1, 2/3, 3/3

69  Which animal may occupy more than one. trophic levels in the same
' ecosystem at the same time ? '

(1} Frog ' {2) Lion

(3) Goat (4) Sparrow
ﬁq—mwwé’rmﬁﬁa%ﬁﬁﬂmmﬁwwwﬁaﬁmﬁw
W w TEw By W wea ¥ 7

(1) 7ew (2) X

G) = 0 . @) e

70 Which structure in pheretima is correctly matched with its function ?
(1) Setae ' |
(2) Gizzard
(3) Typhlosole

defence against predators

absorbs digested food

storage of exfra nutrients

(4) Clitellum — secretes cocoon

YT & Ry Uw N B seh e ¥ @ @ frewan T @ o?
1) @ - ol % Ry gRan -

(2) dwen — T W W e

() fTwrwm - R dwet @ de
(4) wREE - A B S

OP17_ A} 17 [Contd...



71 One of the followmg is not an insect -
S (1) Ant (@) Mosqmto
(3) Locust (4) Spider
frfaftas ¥ ¥ TH Ble T ¥ -
(1 f | @ W
3 fe= @ W
73 Globulins found in blood plasma are primarily involved-in -
(1) Clotting of blood
(2) Oxygen transport in blood
(3) Defence mechanism of body
(4) All the above
mwﬁmﬁaﬁmﬁﬁqﬁmmmﬁzﬁm%-
(1) @ @ aweT T
@) @ H e B uRaET
(3) 9w @ gren Reanfufiet ¥
@ vt Tl |
73 In how many triplet codons, all the three bases are same ?
n 2 | @ 4
(3) 6 4 38
forary %m Fem § A ORI B ¥ 2
a 2 (2) 4
G 6 @ 8
74 Both the ahiﬁials of which. pair are jawless fishes ?
(1) ‘Lamprey and Hag fish 2) _Lamprey and Eel
- (3) Sea horse and Hag fish {4) Rohu and Guppy
'_.%Hsﬁ%%?ﬁrﬁrw‘ﬁwﬁﬁ-«fq@%m% ?
() dmhowen ¥few 0 () W0 TwmEE
-G3) :ag-;?r Hier qur EviegT (@) g T ody

OPr17 A] _ 18
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75 Which of the following organism is pseudocoelomate ?

76

77

78

(1} Liver fluke | (2) Jelly fish
(3) Leech (4) Hook worm
Pt ¥ & @a i gegi ¥ 7

(1) for ww | 2) h dm

(3) il - | 4) & o

The 32-cells stage of human embryo is -

(1) Smaller than the fertilized egg

(2) Same size as the fertilized egg

(3) Two times bigger than the fertilized egg
(4) Four times bigger than the fertilized egg

WEE O B 32-FOE srewen e ¥ -

L) frifm e ¥ B A

@) Pt o F wne e ® e ¥

(3) ﬁﬁ&lﬁ@lﬂ%@rgﬁﬁa@rﬁ?ﬁ%.l

(4) FoRm o2 & 9] 7 == o &

The chief function of smoothy ER is -

(1) Protein synthesis. (2) Enzyme production

(3) Fat synthesis (4) Acrosome formation

fril ER @1 % yq@w e ¥ - —-

(1) YN gsage (2) TS SEER
() T g @) wHEm frefo

Semiconservative replication was first demonstrated in -

(1) Drosophila melanogaster (2) Escherichia coli

(3) Salmonella (4) Streptococcus

DNA &) sdfdwel wfrgphr wdwaw Reed wafig @ w8 o 2
() zEfew AT (2) uelfeen s

(3)  wrERE O

OP17_A] ' . 19
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80

81

82

83

The member of class merostdr_nata of phylum Arthropoda which is called
as living fossil - o

(1) Acorn worm ~ (2) Limulus

(3) Peripatus (4) All the above
du e ¥ @ e w e st ke R weee § -
(1) 9 B @) fwges

() ™ _ (4) wwEm qq
Uric acid is the chief excretory product of -

(1) '. Frog : (2) Earthworm
(3) Cockroach : (4) Monkey

qftw ora g SEe wad ¥, @ -

(1) ¥gh (2) wgan

3) Ta@mea _ (4) =/

Biogenetic law was given by -

(1) de Vries - {2) Haeckel
(3) Lamarck (4) Darwin
AR Frad @ whwes Rea -

OB SI () S o
(3) wu o (4) s T
Oxygen carrying capacity of human blood is reduced due to pollution of -
(1) 04 ' (2)- SO,
(3) CO (4) CO,
Wwwwaﬁmﬁﬂmmmﬁaﬂm% ?
(1) O 2y SO, '
3) cp - (4) CO,

Which of the food components in humans reach into the stomach totally
undigested ?

(1) Protein and starch (2) Cellulose and fat

(3} Fat and starch (4) Starch and Celiulose

ﬁd{ﬁﬁﬂ%ﬁaﬂﬁﬁﬁﬁ—ﬁmmmmﬁﬁ@aﬁmﬁ
o ¥ 7

(1) ¥ qm w7 "(2) YgarT qgn ==l
(3) G au Wil S 4 wr g e
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86

87

Ampuila of Lorenzini is found mn -
(1)  Sharks as thermoreceptor organ
(2) Sharks as lubricating organ

(3) Sharks as balancing organ
(/:1) Star fishes as locomotory organ

(1) 9Bl o dOuEr o ¥ wq N
(2) Bl F Hed ST & owy N
(3) omml H wgwd et & wy A
@) WR 9 ¥ A F e A

Which is odd according to parasitism ?

(1) Bedbug (2) Mite

(3) Lice (4) Plasmodium
WAIRET % oHR W T odg E o7

(1) o | (2) TrEs (AR)
G) ¥ ' (4) iR

Fovea centralis is a region of -
(1) Choroid with cones only
(2) Retina with rods only

(3) Retina with cones only
(4) Choroid with rods only

(1) »Rizs & ey Faw sig ad ¥

@) T @ R daw awE A

G) Xm w Rrd dew v A E 4
(4) B @ ey Fed oo edr ¥

The gland concerns with calcium and phosphorus metabolism in the body -

(1) Pancreas (2) Thyroid
(3) Parathyroid : (4) Parotid
el ahg @ we glR ¥ Sheam 9w wrenw oTwE g E 7
(1) s (2) aEIEs
(3) ITETEREE @) R
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89

90

91

.The hormone responsible for the "fight or flight" response -

(1) Aldosterone (2) Corticosteroné
(3) Adrenalin (4) Cortisol

“igE TT FARE uﬁﬁﬁm RTINS o L
(1) TR () SifCHETH
() wEFfe ) =fcaa
Which was absent in the atmosphere at the time of origin of life ?
(1) NH, - @ H

3 O 4) CHy

SteM W @ & WY Errgquﬁ % fpae awg o1 7
(1) NH; Q@ H

G 0, R 4) CH,

Select the wrong statement regarding mitochondria and chloroplasts -
(1) Both contain DNA

(2) Chloroplasts are generally large

(3) Both are double membranous orgenelles

(4) Both have thylakoid space

nﬁé\ﬁ%ﬂrawaﬁﬁlﬂm%waﬁwmﬁgﬁq
(1) 2 ¥ DNA @ar ¥

Q) TOARE A I B §

() o Jed e gw el ¥

(@) o F amewrs TE RN S ¥

One of the following -pairs is not correctly matched -
(1) Neurohypophysis — Vasopressin

(2) Duodenum — Secretin
(3)  Leydig's cells — Testosterone
(4) Pineal body — Dopamine

P % ¥ ww g gt T Y -

(1) =ReEvesfm - FEnke

(2) e - e
() T F@E - TR
@) lﬂﬁaﬁaﬁm . — SEEA
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92 B-DNA in one turn (pitch) has -

(1) 8 base pairs (2) 10 base pairs
(3) 12 base pairs (4) 14 base pairs
B-DNA ¥ % g (Rra) & o ¥ - |
() 8 & gm (2) 10 &X gw
(3) 12 s gwm (4) 14 &} W

93 The secretory phase in the human menstrual cycle is .

(1) Luteal phase, 6 days = (2) Follicular phase, 6 days
(3) Luteal phase, 13 days (4) Follicular phase, 13 days
A T Wk H FE e ¥ - -

(1) diafiT yreren, 6 f= (2) T wEwn, 6 R

(3) daie wErn, 13 &= (4) & W, 13 R

94  Retrogressive metamorphosis is found in -

(1) Hemichordata ' (2) Cephalochordata
- {3) Urochordata (4) Gnathostomata

yieeTl e wren s g, F - _
(1) TR (2) RbdmRa
3) FwRa (4) UM

95 In which of the national park, tiger is not a resident ?
(1) Sunderbans (2) Gir
(3) Jim Corbett ' (4) Ranthambor
Frefifee fow i sa ¥ T Prad ¥ 2
() g | 2) fr
(B) R e (4) R

96 The kidneys of adult man are -
(1) Pronephric (2) Mesonephric
(3) Metanephric (4)  Opisthonephric
(1) TRl (2) Hrrifes
(3) TeRfEw 4) eifreriRes
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99
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Which one of the following has no DNA ?

(1) Mature sperm (2) Mature RBC
(3) Mature ovum (4) Enucleated ovum
frafafad & & we ¥ DNA & &1 ¥ -
(1) wiwFE gy (@ diw RBC
(3) ufwaa srvETg (4) TEEHETEA TSI
Cowper's glands are found in -
(1) Frog : (2) Cockroach

~ (3) Earthworm ' (4) Mammals
HHUT B AreR] T WA E, A - |
(1) ¥e® @) feraea
(3) gen ' (4) @~
Whicﬁ layer of heart is made up of cardiac muscles ?
(1) Epicardium (2) - Pericardium
(3) Mesocardium (4) Endocardium
mmﬁa—m’mmﬁﬁﬁmw%% ?
(1) uRmERiéan @) TietEam
(3) weEEaH . (@ S
Nucleolus is the site of formation of -
(1) DNA (2) t RNA
(3) m RNA (4) ribosome
Fhgar § P dar ¥ -
(1) DNA (2) t RNA

101

(3) m RNA (4) TEEE™

Peripatus is a connecting link between
(1) Mollusca and Echinodermata

(2) Ctenophora and Platyhelminthese
(3) Annelida and Arthropoda

(4) Arthropoda and Echinodermata
ifze R 7 & 99w @9 § 7
(1) TIe&Bl q SHRASHe

@) TFE g W ferdE

(3) UAfwer Qe smTdrEr

(@) sndidist wUT SHRASA
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102 Cells which provide support and nutrition to the developing sperms -
(1) Leydigs cells (2) Setoli cells
(3) Interstitial cells (4) Follicular cells
e w s meﬁﬁmmawqﬁwwmﬁ% -
(1) Wi @ Wiy ) & wiv
(3) SATE I (4) grem BTG
103 Blastopore is found in -
(1) Morula (2) Neurula
(3) Gastrula {4) Blastula
R TR o ¥, W -
(1) e ' (2) ~g&
(3) g (4) =RGH
104 The cause of minamata disease is -
(1) Cadmium (2) Lead
(3) Arsenic (4) Mercury
(1) e Q) @
@) ot @) W
105 "DNA fingerprinting” technique was discovered by -
(1) Wilmut (2) IJeffrey
(3) Ethoven . (4) Mullis
"DNA fingerprinting” Tef @ dm o, T -
ORREE: - Q) %
() (4 Hfm
106 The endomatrium is the lining of -
(1') Urinary bladder (2) Uterus
(3) Owary {4) Vagina
(1) W (2) T
(3) BN _ 4y o
OP17 A] .25



107 Serum is -
(1) Lymph |
(2) Lymph without corpuscles
(3) - Blood without fibrinogen

(4) Blood without corpuscles and fibrinogen

(1) wfer |

(2) wime Mea @i

(3) wwfESE WA

(4) @& qar wEkeeH Wa @

108 The acrosome of sperm contains -

(1) DNA : (2) Hydrolases
(3) Mitochondria (4) Fructose
g % wREm F T o E - |
. (1) DNA (2) wEENS
(3) AEmIEA @) PR
109 Ink gland is found in - . .
(1) Sponge (2) Jelly fish
(3) Sepia (4) Star fish
T (%) why wEr W ¥, N -
(1) - ww (2) Sf @
(3) it ' (4) ra "=
110 Sound producing organ in birds -
(1) Larynx (2) Pharynx
(3) Syrinx - ' - (4 Vocal sacs
(1) whe™ ) Wi
(3) =i | 4) @t o
1.11 - The hormone which causes contraction of the gall bladder -
(1)  Gastrin (2) Secretin
(3) Renin ' (4) Cholecystokinin
B S R @ wged & ¥ -
(1) g (2) drhfes
By Fm 4) @EREERE
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113

114

Natural parthenogenesis is found in -

(1) Drosophila _ (2) House ﬂy
(3) Honey bee (4) All the above
YThTeTh ST TSI R S 3, ¥~ .

(1) graier - @ O T

3) qgm@r (4) TudEd AW

Water vascular system is a sallent feature of -

(1) Echinodermata 2) Leeches (Annellda)
(3) Porifera ' (4) * Both (1) and (3) |
S HIET I TH fafyse wgmr ¥, @1 -

(1) T o W @R

@) oea | @) (1) Jm (3) I

Glycogenolysis is - |
(1) Conversion of glycogen into fat

‘(2) Conversion of protein into glycogen

(3) Conversion of glycogen into sugar
4 Conversion of sugar into glycogen
TEESRIAEE € -

(1) Teg@eH & adr ¥ FRy

) WA W TAEEEE W Aol
(3) TAEBNT W B W B
(4) TET F OEEEET § @A

115 Mammalian brain originates from -
(1) Endoderm (2) Mesoderm
(3) Ectoderm ' (4) Meso-endoderm
wht wRaes @ Ier ¥ - o
(1) wesd @ At
(3) uEEH (4) Arel-gusEd
OP17_A] | 27
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116 The nucleosomgs in chromosome contains -
(1) Four histones of four types
(2) Eight histones of two types -
(3) Eight histones of four types -
(4) Eight histones of eight types
g % e o ¥
(1) - &R & 9r B
(2) = YBR & eme fewrg
(3) IR YBR & 03 e
(4) G TBR % o feera

117 Select the odd among following

(1) Platypus 2) Archeopteryx
(3) Seymouria {(4) Crocodile
Prerfifiafy o @1 wa wt - |

() < @) enfhaia
3) dmten @) WS

118 Giycocalyx is associated with -

(1) Nucleus _ (2) Nucleolous
(3) Plasma membrane _ (4) Nucleosome
IERIE R B 9=y ¥, § -

(1) FHwas (2) FiEamt

(3) wem R (4)  gEHeliEm

119 The cause of myxacdema is -
(1) Hypersecretion of parathormone
(2} Hypersecretion of Thyroxine
(3) Hyposecretion of PTH
(4) Hypasecretion of Thyroxine

HIEFEISH B BT B -
) i w sE g
(2) GEURRET F 9Td w4
(3) PTH w1 frei amw
(4) g @ e gEw
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120 Skin is a -

(1) Columnar epithelium (2) Pseudostratified epithelium
(3) Stratified epithelium ~ (4) Cuboidal epithelium
(1) i Suwml (2) e IYHA!

() Wi Swwdt (@) TEe SURdl

121 Animal that does not perform locomotioh -

(1) Sycon (2) Sepia

(3) Euglena . (4) Nereis

(1). wsHT (2) wifen | '
(3) g (4) |

122 Which of the followirig hormone is steroid ?

(1) Glucagon ' (2) Insulin
(3)  Estrogen (4) Thyroxme
frfefag ¥ ¥ #-—w TmA BREs & 7

(1) TgerT @ T

(3) TEREH (4) TR

123 One of the following is not correctly matched -

(1) Glochidium - Mollusca (2) Planula — Coelenterata

(3) Trochophore — Anelida ' (4) Tomaria — Echinodermata

Prefias ¥ & wh gifww 8 ¥ - |

(1) TefeRem — wras! @) < - fARERE

¢) TEER - A @ erifen - SRS
124 How many phenotypes are found in ABO blood groups ?

(1) 4 @) 6

(3) 1 (4) 8 -

ABO T @ § Thad weR % WeeEY W ow ¥

1y 4 (2 6

3y 1 . 4 3
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127

Elasmobranchi is characterized by -

(1) Ctenoid scales and ventral mouth

(2) Ctenoid scales and terminal mouth
(3) Placoid scales and ventral mouth
(4) Placoid scales and terminal mouth

| OISR BT wam ¥ -
(1) Ot s qO SR qW

(2) <GS s dul sy @
(3) wBES s AT X @ |
(4) wwiEE oah T sia™ g@ o -

The opening of hepato-pancreatic duct into duodenum is controlled by -

(1) Cardiac sphinctor (2)  Sphinctor of Odi
(3) Pyloric sphictor (4) Sphictor of Adam
gl Afoeht w1 =EEw ¥ oy Prife @ ¥ mwo -
(1) &= el (2) oS & e
() TwEiE sl (4) = W eEEh

Identical twins are produced when -
(1) Two sperms fertilize one ovum
(2) Two ova ovulates and both get fertilized

(3) Fertilized ovum forms two blastomeres and both get se;ﬁarated

(4) Both (2) and (3) |
T gear @ fmber g ¥, S -

(1) & g % = & PRt e ¥

() @ ovs Feed ¥ @ 9 w1 RReT @ w ¥

'_(3)-%-mamm%amﬁwﬁmﬁ%

128

) = (2) 7w (3)

The causative agent of filaria is -

(1) Trypnosoma gambiens () Plasmodium vivax
(3)  Wuchereria bancrofti {4 Leishmania donovani
TEHRAT BT B - |

() Ruagir dfige () TR @z
() R g 4y hormfrar skdet
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In sperm bank, the sperms are stored in -

(1) Liguid CO, (2) Liquid N,
(3) Liquid O, 4) Ice

] ¥ A ywmel W ume Re @ ¥ °
(1) A CO, (2) TE N,

() T O, | (4) &

What is the function of "copper-T" ?
(1) Tt stops zygote formation

2y It stops implantation

3) It 'stops mutation

(4) It stops fertilization

“Hrue-T' @1 ® @R § 7

(1) T sEie BEm et dwa T

L) T% Awer B e ¥

(3) uE Safkads & & ¥ |
@) Uz FewE @ d@m E L

Unit of mutation is -

(1) Gene ' - (2) Recon
(3) Cistron (4) Muton
Safkeds @ IHE T -

(1) < | : 2) @

(3) ot 4) =g

Archeopteryx is a -

(1) living fossi

(2) mammal _ _
(3) connecting link between reptiles and birds
(4) Both (1) and (3)

snfbaiefad ¥ -

(1) T Alfaa sirangd

(2) T W

(3) algdl wur wiel & wE B Aww B
4) (1) @ar (3) <= '
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133 Which cartilage is found in the intervertebral disc of mammals ?

(1) Fibrous (2) Hyalin

(3) Elastin (4) Calcified
W W Texalaw Rw § few ver oY suier Rl o & ¢
(1) S @) e

(3) FemEs (4) HhemEm P

134 Animal which is without eyes -

(1) Frog (2) Earthworm

(3) Snail (4) Cockroach

(1) ¥ew 2) gen

(3) = (@) fowae

135 Which of the following are anti-oxidants ?
A - Vitamin E, B - Selenium, C - Lycopene _
(1) Only A : (2) Only A and B
3 A Band C _ " (4) None
frrafrfas & @ & i oifers ¥ 7
AT E, B-dafmm, C-aman

1 Faw A - (2) waw A @@ B
(3) A Baa C (4) @ T
136 Everyday used dairy product which acts as probiotic ?
(1) Ghee (2) Milk
(3) Yogurt , (4) Butter
e syErt gl sar W fEeis g ¥ -
(1 = (2) g
(3) =M (4) wwET
137 Which one of the following is called as embryonic urinary bladder ?
(1) Amnion (2) Chorion
(3) Yolk sac _ (4) Allantois
- Prfafed ¥ ¥ ¥ gt e weer ¥ ?
(1) ofEm @) wiftam
) A% dF ORR
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Cardiac muscles are - .

(1) Striated and voluntary (2) Striated and Involuntary
(3) Smeoth and voluntary (4) Smooth and involuntary
wdl ARl A ¥ -

(1) e war Yfesw @) Yaa T et

G) fn T tfsE () Tl am sefos

Which stage of malaria parasite is infective to man ?

(1) Gametocyte (2) Cryptozoite
(3) Merozoite _ (4) ~ Sporozoite
e W & B8 W WS % G % §?
(1) s @ ﬁm—atrﬁ’gz

(3) rege (4) W

The site of fertilization in human beings is -

(1) Graaffian follicle (2) Falopian tube
(3) Uterus (4) Vagina

wyedt § Prew we ¥ -

(1) wiReae gRe @) et
() THter @ o

Most of the CO, is transported in blood as -

(1) Carboxyhaemoglobin (2) Carbaminohaemoglobin
(3) Gas : (4) Bicarbonate

sftmpist CO, T ¥ wafkw & &, & &7 ¥ -

(1) RS 2) m%ﬁﬁé’m‘ﬁhﬁﬂ

(3) ™ (4) EPETE

One of the following lays eggs yet the female secretes milk -
(1) Bat o (2) Ostrich

(3) Kangroo - (4) Platypus

frrfrfes & @ ©s omewed ¥ RRT ol W gW @ W EE ¥ -
(1) TwmeE @ a3t |
() @ | (@) wdug
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143 W_hidh law explains that evolution is not a reversible process ?

(1) Allen's law (2) Cope's law
(3) Dollo's law (4). Jardan's law
frg Fraw & oigER SeiEeE @ Sohuia fear T ¥ ?
() & & Prm (2) @ H FrEm
() S w1 PrEm - (4) wT w1 fEm
. 144 Birds evolved from -

{1) Reptiles . (2) Amphibians
(3) Fishes (4) Prototheria
ufiel @1 SafeE gen - o
(1) wiga s - (2) SYmEmEl ¥
(3) wmhra ® : (4) Rt @

145 Embryonic development -of which animal mvolves extra embryonic
membranes - '
(1) Shark and Rabbit (2) Frog and Lizard
(3) Hen and Rat ' (4) All the above
ot R ot fawa § aR-wo R oe o & -
(1) 9T q @& - (2) vew qur fumen
G) o W ogE - (¢4) Swdwm @A

146 The germ cells in the gonads are -
() Columnar (2) Squamous
(3) Cuboidal (4) Stratified
WE @Y S ﬁfﬁm a’ﬁ’l’r % )
(1) i Q) g
(3) "THR | 4) wha

147 Voluntary muscles are -
(1) Enucleated (2) Uninucleated
(3) Binucleated (4) Multinucleated
thos ifE & ¥ - |
(1)  wHwlaEn (2) wEH

() frws | (4) wgE
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148 The green house gas produced by paddy fields -

() Co, 2) CH,

(3) SO, - (4)  Tropospheric Oy
ar % QA ¥ Prewd oW eha TE ¥ -

(1) CO, (2) CH, -
(3) SO, . (4 DUEERE O,

149 The probability of second child to be a male child is -

(1) 100% Q) 7%

@) 50% . 4) 25%

T TR B Wl A B R WY ¥ -

1) 100% Q) 7%

3)  50% L @) 25%

150  "Good ozon" is found in -

(1) Troposphere | (2) Mesosphere
(3) lonosphere (4) Stratosphere
(1) o wosd () W= www
(3) omatiE dvew | (4) €HAT TUEH

151 Germ theory was propounded by -

(1) Darwin (2) Wallace
3) Weismann (4) Lamark
SR AIE B iEuRd e, -
1) =T | 2) &
(3) e . C @) Wk
152 During embryonic development, which germ layer develops ﬁrsf -
(1) Ectoderm - (2) Mesoderm
(3) Endoderm ' @ (1) and (3)
qoir fram &% @ HEl SEE T B e gEwe g -
(1) uFred C(2) weeH

(¢) wereH | @ (D) @ (3)
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153 Motile zygote of Plasmodium is found in -
(1) Human RBC ' '
(2) Human liver
(3) Stomach of female anopheles
(4) Salivary glands of anopheles

Wrrqﬂfé‘mao‘rnﬁrs‘haawﬁzww% ¥ -
(1) #=FE RBC

(2) w9 apd

(3) uR1 UAThRlST % S o

(4) OIS @ @R bl §

154 Reptiles gave rise to - . o _
(1) Mammals (2) Birds

(3) Amphibians (49 Both (1) and (2)
gt & sl gy, W - | .
(1) wfmr (2) whi
(3) STty | 4) TE (1) 3w 2)
155 Duodenum secretes secretin which is a/an -
(1) Enzyme (2) Hormone
{3y Waste product (4) Pigment
TEU ¥ WHIEA B WA B B, W ¥ TH -
(1) TmEH (2) @Hiw
(3) omfits Tawf (4) auH
156 Man who started using animal skin as cloths -
(1) Java man ' (2) Peking man
{3) Cro-magnon ' {4) Neanderthal man
wgw e agell @ @ w SwEm Gust % wW A ge T -
(1) W Ay (2 U g
(3) T (4) TrE=sRgw AT
157 The gland which degenerates with onset of sexual maturity -
(1) Spleen ' (2) Thymus
(3) Adrenal . 4y C-Cells
uﬁua‘rﬁﬁmqﬁmm%ﬂﬁﬁ%maﬁwaaﬁ%
() irer - (2) umEHE

() T @) C-wim
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One of the following is not correctly matched -
(1} Sycon ~ Canal system

(2) Star fish
(3) Ascaris
(4) Prawn - Haemocoel
P % & wh gk W E -
(1) WEHA - T G

) ar/ AW - el WA

@) wepfw - e s

Radial symmetry
Flame cells

(4) WA LI

One of the following is a vestigeal structure in man -
(1) Teeth (2) Internal ear
(3) Ear muscles _ {4) Tongue
Prfalad § @ UH A @ oAl W ¥ -

(1) =& () "~ ates &9

(3) i Ui (4) %

Islets of Langerhans consists of -
(1) Alpha cells _
(2) Alpha and Beta cells

(3) Alpha, Beta and Delta cells

(4) Alpha, Beta, Delta and Epsilon cells
g o fauwel ¥ W W@ ¥ -

(1) o B

(2) oTEH qAT AT FBNITEH

(3) o, S qET ST BB

@) o, 91, e qen wRewi @i

A-Blood, B-Cartilage, C-Neuron

“Which of the above isfare conpective tissue -

(1) Only A : (2) Aand B

(3) B and C (49) Aand C

AT, B-guiRe, C-=gUH
IR § dRel Gam Bfe -
(1) HIR A (2) A 9u B

(3) B @ C (4) Adur C
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- 162 Animals whose fossils are not .available -

(1) Amphibians (2) Mammals
" (3) Protochordates (4) Birds |
yrof s franen e w8 -

(1) IwEEry . ' 2) wWN

@) wReER 4) ush.

163 Select odd one out -

(1) Cercaria _ (2) Bipinnaria
(3) Taenia - (4) Ephyra
(1) wHRa @ wEReR

(3) AFmr 4) IEEU

164 Longest phase of meiosis -

(1) Prophase - I (2) Prophase - 1I
(3) Anaphase - I (4) Metaphase - 1I
il R @ wed W W -

(1) WEE- @) W

'(3) 1o S G C @) eI

165 One of the following is mismatched -

(1) Galapagos island —  Darwin's finches
(2) Origin of species - Mendel
@) Giraffe —  Lamarck

(4) Drosophila —  Morgan
Prafifa % & gk & -

) e dw - R A R
(2) “Hie s EEe - Sed
G) Prw -~ A
(4) srafewn .
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166 One of the following pair is not correct -

(1) Man — Kidneys
(2) Cockroach — Flame cells
(3) Earthworm - Nephridia

4) Balanoglossus — Proboscis gland

frfifaa  ww g wé W ¥ -

(1) AF= - I |
(2) ®BU - v Bl
(3) dgen — gFhed

@) FoereEg - setga el

167 The site of peptide synthesis in a cell is -

(1)  Chloroplast " (2) Chromoplast

(3) Golgi body . ' - (4) Ribosomes

FHREHT TeEe WUl B WA - |

(1) FRwRE (2) W .
(3) TSt (4) EEE

168 Sickle cell anaemia is a -
(1) X-linked hereditory disease
(2) - Y-linked hereditory disease
(3) Autosomal hereditory disease
'(4) Air borne infectious disease

(1) X-meepd ongafyel T
(2) Y-gswE SgEdEn WM
() SAEma gl T

(4) TSR W T

169 Human cel.l which is without mitochondria -
(1) Nerve cell (2) Muscle cell
(3) RBC (4) Liver cell
e Fe e aEdeitem @ awE dar ¥ -
(1) ot S (2) usht =iftEm

(3) RBC (@@ @ HVHHT) (4) TqPa B
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170 One of the following is a true fish -

(1) Jelly fish (2) Silver fish
(3) Stone fish (4) Cray fish
frfafea & @ wF arafas woer ¥ -
(1) < Reet (2) Ry g
(3) == few (4) 7 fgsr
171 Which of the following pair is correct ?
(1) Female cockroach —  Anal Cerci
{2) Female Ascaris —  Curved posterior end
(3) Male frog —  Copulatory pad on hind limb
(4) Male shark —  Claspers on pelvic fins
Prefifes & & d@ g ¥ 7
(1) HRT Hiwd ~ U §EE
(2) W TERE - 7T gen uyw Ry
(3) T #WED ~ uyg Ul WY N el
(4) T 9 ~ vl g W Tl
172 One animal belongs to the phylum to which sea urchin belongs -
(1) Sea lemon (2) Sca mica
(3) Sea fan (4)  Sealily
s ol 39 ¥W ol ¢ e @ afte eman ¥ -
(1 « = @) 4 TmEm
(3) @« | @) @ fafw
_1"?3 The factor which mactivates ptyalin in the stomach -
(1) Rennin . (2) HCI
(3) Pepsin | . {4y  Gestrin
®E W TE b e o e @war ¥ -
(1) I+ | (2) HCI
(3) e - @) g
174 Darwin studied pature using which ship ?
(1) Eagle (2) Beagle
(3) Seagle (4) None
wew fes wa s 3 uply w1 srema R -
(1) | @) &

(3) W™ N CY ao’réaﬁ
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175 Study of evolutionary history of animal -

(1) Phytogeny (2) Ontogeny
(3) Oncogeny - (4) Phylogeny
aroll & Sefaew % gfaem @ eiemad -
(1) Tz (2) ol
(3) =l (4) wrEEeTE
176 One of the following is a gastro-intestinal hormone -
"(1) GH (2) FSH
(3) Enterokinase {(4) Melatonin
feafafas § @& ot M ¥ -
(1y GH (2) FSH
()  TEREETS (4) HdeeitE
177 Which one of the following is correctly matched ?
(1Y House fly - Musca, an order
(2y Tiger —  tigris, the species
(3) Man —  Primata, an order
(4) Octopus  — Mollusca, a class

Frafefeq & & =9 gafka ¥ 7

(1) =@ waEl - HE&hl, UH T
@ TwR - Rfm, sl
(3) wI= -~ UEHET, TH T
(4) aigdwE - HiEwsl, Us

178 Choose the correct matching -

(1) Leptotene -  Crossing over
(2} Zygotene —  Chiasmata
(3} Diplotene -  Bouquet phase
(4) S-phase - DNA replication
98 OW @0 @I @e -

(1) AN — I e
(2) SR - wgeer
3) F@REm - gH grERen

(4) S LT, THIHIN
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179 Gastrin is secreted from -
(1) Intestine (2) Stomach
(3) Pancreas 4) Live_r '
g & 9Ew @ Y, W - B
(1) &= (2) - oI
S (3) SN (4 TPa
180 Radiolarian ooze belongs to which class -
(1) * Rhizopoda (2) Mastigophora
(3) Insecta (4) - Sporozoa
Yedmias o 5w af % @ ¥ 7
(1) EsirE (2) AfeiE
(3) T (4) IS
181 The cause of cretinism is - _
(1) Hypothyroidism in adults (2) Hyperthyroidism in adults
(3) Hyperthyroidism in children (4) Hypothyroidism in children
- plefew @ e ¥ -
(1) == § sEuaERiEe (2) = ¥ TEIRAEERe
() i ¥ ERUEEE e (@) wE H EEuEEiEe
182 Poison of Naja is -
(1) Haemotoxic (2) Neurotoxic
(3) Haemolytic (4) Histolytic
(1) dEieas Q) “gRAiras
@) FwwEes 4 Rewsi
183 Choose the correct match from the following : _
(1) Aurelia — Cnidoblasts - — Coelenterata
(2) Ascaris . — Body segmented — Annelida
(3) Salamendra — External fertilization — Reptelia .
(4) Pteropus —  Qviparous — Mammalia
Prefvfee ¥ ¥ g @ W WX -
() et - fRmmm - dE=RRa
(2) UEhfE ~ gitsg MR ~ Tt
(3) Ae - s e -~
4 aJquE ~  IUSYAH ~ i
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184 One of the following is a correct palr -

(1) Thyroid - PTH

- ® _Anterior pituitary —  Oxytocin
(3) Adrenal medulla - Adrenalin
(4) Corpus Luteum - Estrogen
freffas ¥ ww W W b -
(1) gEEs -  PTH _
2) om Rey - SRR

() udMw degm - e
(4) =g wg<rm L

185 One of the following pair includes useful insects -

(1) Lytta and Tacchardia (2) Apis and Aedes

(3) Culex and Bombyx . (4) Red ant and Tnbollum
Prfafas & ¥ we wier SwErl @e @ ¥ -

(1) TR an Tersar 2) whw aw W=

() e aa S (4) ww R T ma‘l%utr

186 Which of the following are similar in embryomc ongm ?
(1) Adrenal cortex and adrenal medulla
(2)  Blood and Heart
(3) Epidermis and Dermis
(4) All the above
Preffes & @ @ g Reer ¥ @ 7
(1) M BERd 9 CRNW Heg
(2) & Ol T,

(3) dfehig au =R

4) ST g

187 Which is -a derivative of ectoderm ? .

© (1) Liver " (2) Muscles
(3) Brain (4) Bone
UFEISH &l o= Eﬁh ¥ 7
(1 wpa @) e
(3) wRTss @) ofy
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190

191

192

The vector host of ‘yellow fever is -

(1) House fly B (2) TFemale Anopheles
(3) Culex mosquito (4) Aedes mosquito
B0 R F OACE T § - |
(1) ERE el - (2) W@l U

() wwEE T 4) T "=

Identify "A" in the following food chain -
Grass —»> Insect — Frog -» "A" —» Eagle
(1) Wolf : (2) Parrot
(3) Cobra - (4) Rabbit
frafafes @@ g@en § "A" @ TEEW -
T — W — Wed — A" o 9

(1) sfsa (2) @

(3) @ (4) awE

"Widal test" is carried out for -

(1) AIDS : (2) Malaria . .
(3) Typhoid (4) Diabetes Mellitus
“frem ¥ fow & g fen s@n @ 7

(1) AIDS (2) TR

() eEEES (4) g

Lac is a / an -

(1) Plant product (2) Animal product
"(3) Viral product (4) Artificial product
I B T -

(1) W'Y Id (2) wrg SAE

(@) 9ME SEE (4 FBW sEr

Which animal exhibits external fertilization ?

(1) Frog = (2) Rat
(3) Lizard (4) Bird
fre wolr & g Frves @ ¥ 7

(1) ﬁEEB (2) &t
OB OB
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193 How many base pairs will be in a double helical DNA havmg length-

1.7 meter ? _
() 5 x 109 @) 17 x 109
(3) 3.4 x 109 4) 1.7 x 105

wﬁaﬁﬁﬁbmﬁmﬁnm%lsﬂﬁmﬁ%ﬂaﬁmﬁmﬁ
a7

(y 5 x 109 2) 1.7 x 10°

(3) 3.4 x 10° @ 1.7>‘<1_05

194 Five kingdom classification was propounded by -

(1) Aristotle (2) Linnaeus
(3) Whittaker (4) Cuvier
T SIA aiteeer @ whee fear -

(1) g (2) fafe

(3) @rRa | (4) Bl

195 The type of egg and type of cleavage in in;sects are respectively -
(1) Mesolecithal, meroblastic
(2) Mesolecithal, superficial
(3) Centrolecithal, Holoblastic
{4) Centrolecithal, Superficial
Hw W oo ® YBR qUl fewET @ yHR T o -
(1) womgdiasi, afrdsh
(2) TETIYTH, GaE
(3) Fediaem), quish
(4) FEPHIER!, FI

196 Contribution of carolus Linnaeus is -

(1) TUPAC | (2) ICZN

(3) Binomial nomenclature (4) Artificial classification
Foww fotaa w1 deE - |

(1) IUPAC (2 ICZN

(3) fm weR 4) T i
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The solid embryo at 16 celled stage is called -

(1) Gastrula (2) Blastula
(3) Neurula : (4)- Morula
16 B ey O I Bl T FEA T -
O g (@ =g
@ =gEm. . (&) wEW

If DNA has ATG-CAG codes, what will be the codes in mRNA ?

(1) TAC - GTC

199

. 200

2) UAC - GUC
() UCA - TUA

(4) TCA - GTC

afs DNA # ATG-CAG@%a‘rmRNAﬁa%H—@rW@ﬁ?
(1) TAC - GTC
(2) UAC - GUC

(3) UCA - TUA

(4) TCA - GTC

Which protein participates in blood clotting ?

(1) Globulin (2) Serum amylase
(3) Fibrindgen' (4) Albumin
A N @ e ¥ WE W ¥ 7 |

(1) wehm @) Hro T
(3) - @) wegh

- The haemopoeitié structure in embryo is -

(1) Amnion . (2) - Allantois

(3) Chorion (4 Yolk sac

(1) uh=eE - 2) TWRRY

6) wfRewm | 4) % &@
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